

#1. $\int_1^5 \frac{3}{x+2} dx = 3 \ln|x+2| \Big|_1^5 = 3 \ln 7 - 3 \ln 3 \Rightarrow 2A = 3 \sec y \tan y + 3 \int \sec y dy$
 \Rightarrow Average value of $f(x) = \frac{3}{x+2}$ on $[1, 5]$ is $\frac{\int_1^5 f(x) dx}{5-1} = \frac{3 \ln 7 - 3 \ln 3}{4} = \frac{3}{4} \ln \frac{7}{3}$
 $\Rightarrow 2A = 3 \sec y \tan y + 3 \int \sec y \left(\frac{\sec y + \tan y}{\sec y + \tan y} \right) dy$
 $= 3 \sec y \tan y + 3 \int \frac{1}{\sec y + \tan y} d(\sec y + \tan y)$
 $= 3 \sec y \tan y + 3 \ln |\sec y + \tan y| + C$

#2 a) $\int_0^1 \frac{e^{2x}}{\sqrt{e^{2x}+1}} dx$
 $\frac{1}{2} u = e^{2x} + 1 \quad du = 2e^{2x} dx$
 $= \frac{1}{2} \int_2^{e^2+1} u^{-\frac{1}{2}} du = \frac{1}{2} \cdot \frac{2}{\frac{1}{2}} u^{\frac{1}{2}} \Big|_2^{e^2+1} = \frac{1}{2} (e^2+1)^{\frac{1}{2}} - \frac{1}{2} \sqrt{2}$
 $\Rightarrow \int \sqrt{3+x^2} dx = \frac{1}{2} \left[3x \frac{\sqrt{3+x^2}}{\sqrt{3}} + 3 \ln \left| \frac{\sqrt{3+x^2}}{\sqrt{3}} + \frac{x}{\sqrt{3}} \right| \right] + C$
 $= \frac{1}{2} x \sqrt{x^2+3} + \frac{3}{2} \ln |\sqrt{x^2+3} + x| + C$

b) $\int_2^8 |3x-9| dx$
 $3x-9=0 \Rightarrow x=3$
 $= \int_2^3 9-3x dx + \int_3^8 3x-9 dx$
 $= 9x - \frac{3}{2}x^2 \Big|_2^3 + \frac{3}{2}x^2 - 9x \Big|_3^8$
 $= 9 - 3 \left(\frac{9}{2} - \frac{4}{2} \right) + 3 \left(\frac{64}{2} - \frac{9}{2} \right) - 45 = 39$

c) $\int_1^e x^5 \ln x dx = \int_1^e \frac{1}{x} \ln x dx$
 $= \frac{1}{6} \ln x \cdot x^6 \Big|_1^e - \int_1^e \frac{1}{6} x^{6-1} \cdot \frac{1}{x} dx$
 $= \frac{e^6}{6} - \frac{1}{36} x^6 \Big|_1^e = \frac{e^6}{6} - \frac{e^6}{36} + \frac{1}{36} = \frac{5e^6}{36} + \frac{1}{36}$

d) $\int_1^2 x^2 e^{2x} dx = \int_1^2 \frac{1}{2} x^2 de^{2x}$
 $= \frac{1}{2} x^2 e^{2x} \Big|_1^2 - \int_1^2 e^{2x} \cdot x dx = \left(\frac{1}{2} x^2 e^{2x} - \int \frac{1}{2} x de^{2x} \right) \Big|_1^2$
 $= \left(\frac{1}{2} x^2 e^{2x} - \frac{x}{2} e^{2x} + \int \frac{1}{2} e^{2x} dx \right) \Big|_1^2 = \left(\frac{1}{2} x^2 e^{2x} - \frac{x}{2} e^{2x} + \frac{1}{4} e^{2x} \right) \Big|_1^2$
 $= e^{2x} \left(\frac{x^2}{2} - \frac{x}{2} + \frac{1}{4} \right) \Big|_1^2 = e^4 \left(\frac{4}{2} - \frac{2}{2} + \frac{1}{4} \right) - e^2 \left(\frac{1}{2} - \frac{1}{2} + \frac{1}{4} \right)$
 $= \frac{5}{4} e^4 - \frac{1}{4} e^2$

e) $\int_0^8 x \sqrt{x+1} dx$
 $\frac{1}{2} u = x+1 \quad du = dx$
 $x = u-1$
 $= \int_1^9 (u-1) u^{\frac{1}{2}} du = \int_1^9 u^{\frac{3}{2}} du - \int_1^9 u^{\frac{1}{2}} du$
 $= 2u^{\frac{5}{2}} \left(\frac{1}{5} u - \frac{1}{3} \right) \Big|_1^9 = 2 \cdot 9^{\frac{5}{2}} \left(\frac{9}{5} - \frac{1}{3} \right) - \left(2 \left(\frac{1}{5} - \frac{1}{3} \right) \right) = \frac{1192}{15}$

f) $\int \frac{x e^{2x}}{(2x+1)^2} dx$
 $u = \frac{e^{2x}}{2x+1}$
 $du = \frac{(2x+1) \cdot 2e^{2x} - e^{2x} \cdot 2}{(2x+1)^2} dx = \frac{4x e^{2x}}{(2x+1)^2} dx$
 $= \frac{1}{4} u + C = \frac{e^{2x}}{4(2x+1)} + C$

g) $\int \frac{x}{x^2-36} dx = \int \frac{x}{(x+6)(x-6)} dx$
 $= \frac{1}{12} \int \left(\frac{x}{x-6} - \frac{x}{x+6} \right) dx = \frac{1}{24} \int \frac{2x}{x-6} dx - \frac{1}{24} \int \frac{2x}{x+6} dx$
 $= \frac{1}{24} \int \frac{1}{x-6} d(x-6) - \frac{1}{24} \int \frac{1}{x+6} d(x+6)$
 $= \frac{1}{24} \ln \left| \frac{x-6}{x+6} \right| + C$

h) $A = \int \sqrt{3+x^2} dx = \sqrt{3} \int \sqrt{1+\left(\frac{x}{\sqrt{3}}\right)^2} dx$
 $\frac{1}{\sqrt{3}} = \tan y \Rightarrow dx = \sqrt{3} \sec^2 y dy$
 $A = \sqrt{3} \int \sqrt{1+\tan^2 y} \cdot \sqrt{3} \sec^2 y dy$
 $= 3 \int \sec^3 y dy = 3 \int \sec y d \tan y$
 $= 3 \sec y \tan y - 3 \int \tan y \cdot \sec y \tan y dy$
 $= 3 \sec y \tan y - 3 \int \sec^3 y dy + 3 \int \sec y dy$